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PART-A ANSWER ALL QUESTIONS MARKS:3X 2=
6
Q.No. Questions BTL | CO(S) [PO(S) ([ PSO
1. Define stress ?explain types of stress 1 1 1
2. State Hooke’s Law. 1 1 1
3. what is the relation between shear force and bending 2 2 1
moment
PART-B ANSWER ANY TWO QUESTIONS MARKS:2X 7=
14
Q.No. Questions BTL | CO(S) [PO(S) ([ PSO
5 1 2

1 A Tensile test was conduction on a mild steel bar. The
following data obtained from the test.Diameter of the
steel bar = 3cm ,Gauge length of the bar = 20cm,Load
of Elastic limit = 250KN,Extension at a load 150KN =

0.21mm,Maximum load = 380KN,Total extension =

60mm,Diameter of the rod at the failure

2.25,Determine : 1) Young’s modulus. 2) The stress at




RIS L_

ENGINEERING COLLEGE

Approved By AICTE, Affiliated to Osmania University

Chandrayangutta, Bandlaguda, Hyderabad - 500005, Telangana State.
Email: info@islec.edu.in | Tel: 040-29880083 / 29880084

Elastic limit. 3) The percentage elongation. 4) The

percentage decrease in area.

2 The safe stress, for a hollow steel column, which S 1 2
carries an axial load of 2.1x10°KN is 125MN/m?if the
external diameter of the column is 30cm. Determine the
internal diameter.
5 2 2

3 An axial pull of 35000N is acting on a bar consisting of
three length as shown in figure if the young’s modulus

= 2.1 x 10° N/mm*Determine a) Stress in each

section.b) Total extension as the bar.




